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a) Draw a frequency-domain equivalent of the above circuit. Show a numerical
phasor value for ig(¢), and show numerical impedance values for R, L, and C.

Label the dependent source appropriately.

b) Find the Thevenin equivalent (in the frequency domain) for the above circuit.
Give the numerical phasor value for VT, and the numerical rectangular form for

the impedance value of zTp.
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b) The -j\2k& is in series with a
c¢urrent source and may be Lﬁhored.

Algo, with ne load connected across

a and b, (the condition under which
we measure Ve, adrpss a and k), the
1405 and 200 Form & current
divider.
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To obtain an exac¢t expression For Iy,
we may use the Jollowing alternative
dalen Lation -
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answer, we have +the -,CoLLowLng result-
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We observe +hat shorting a *o b gives

OV  across the components in the midd le.
We suspect all of Ts Flows in the wire
from a o b/ meanlhg Ix—:o and [STx =OV.



cheek whether ]Ix =0 and IS][X=OV
Aoes because LF
oV ~oV =0V across

We
is  plausible. Tt
1S Ly = 0V, then we have
the j40S and 300, Thus, Iy = 0V =0.Y
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So Ly=0 is wnsistent, and T = Lg.
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